o i ?
o ine is 1in the world

i ing i inhabi iverine island W

Which of the following is the largest inhabited ri ) Majuli

EC; UO: nanda (D) Marajo
manag a

(E) Question not attempted

ﬁwﬁ%aﬁmmwﬁwm§mwﬂtaﬁqmﬁv

(A) A : ®) 3
(C) IHEAT {89 e
(E) gaf@wx

i ?
Which of the following river is not a part of Indus River System )
(A)  Satlyj (B) Chena

(©) Kosi (B) Ryl
(E) Question not attempted

T3t 3 2 20 ot =t R et rorreht s s A R 2 _

@A) (B) =
© = D) Th
(B) Sgaf@ws

Which of the following Lake is not a Saline water lake in Rajasthan?
(A) Pachpadra

(B) Sambhar
(C) Didwana

(D)  Pichola
(E)  Question not attempted

ﬁnﬁ%mmaﬁaﬁqmsﬁa@&mﬁﬁsﬂa#ﬁ%?

(A) 9Y9Ygq (B) WRK

©) s O  fden e

(E) Srgafaws

Which of the following is the application of computer mostly used in medical field?

(A) To provide assistance in surgery (B) To create advertisement
(C)  To visualize 3D objects (D) * To provide Histance canllfion
(E)  Question not attempted

ﬁmﬁr’@aﬁ%wmﬁq@@ﬂ%ﬁmg@m e & & wafm 29

(A) e faferaar d werar ey ' ®) R

(©) 3@1&1&‘1@@@%@«1 D) arwﬁmi ]

() wpafawg - . . A ke
Which of the following is not the class/calegory of computers?

(A)  Parallel Computing B)  Micro Computer

(C)  Mini Computer (D)  Mainframe Computer g
(E)  Question not attempted

ﬁm%ﬁaaﬁ%aﬁq-zﬁmm@%aﬁ/i\unamgt? 5

() S T (D) TR gy

© it E=g ' (D) v g
' Tt 94

(E) .

All]

Whi
(A)
©
(E)
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6 Which Indi
ndian has won the 2023 Ramon Magsaysay Award? (Choosc the most appropriate option from below)
A .
(hy  Teewiianugg (B) Kailash Vidyarthi
(C) Ghazal Alagh 0 (D)  Gautam Adani 0
(E)  Question not attempted /“.')l,
{7
mmﬁzozsmmﬂ@%wm(ﬁwﬁémmﬁmiﬁ) <!
@) WEF i. B) e feemdt ™
C) TN X om0
©) A (D) TaH et -
() AEREIH .
. A, - N
7 Critical Minerals Summit 2024, was held in which of the following city / U.T.?
(A) Chennai O (B) Mumbai O
© Newpehi ] (D) Kolkata M
(E)  Question not attempted ;:
[%‘ia‘aﬁmmmﬁa 2024, fora wret / Shwamfira JaT ﬁamﬁﬁrdf?mmw s
© =fe T (D) b —
L : 1
(B) uiEwd
0 0
8 The famous speech by Pt; Jawahar Lal Nehru, addressed on the midnight of 14-15 August 1947 is called
- (A) Tryst and Co-operation (B)  Tryst with destiny =
(C) Tried with desti‘j?~ (D) Tryst with honesty "
@ @
(E) Question not attempted *’:}
14-15 30T 1947 aﬁmmﬁﬁqﬁmmmﬁa‘amﬁm TTaT SRTg, SITHOT ShaT STl & &=
(A) s H-RIA B Refrfeh =
© s lesRe (D) R=framsE )
G W0
(E) SqE@¥T v
] :"‘E“i
9 The cities that were diYided into communal zones during the partition of India were- i::’
(A) Lahore, Bihar afid/Calcutta o)
(B) Lahore, Amrits{:énd Hyderabad )
(C) Labhore, Amritsar and Calcutta ™
i ; ™
(D) Amritsar, Calcutta and Jammu & Kashmir
(E)  Question not atfempted Ve
ma'ﬁwma;aﬁrﬁﬁrmméﬁﬁﬁzmmﬁ- m
(A) @Er, faern AT T <!
g‘\s
R .
k=) 0
(C) @, AqaEt ATHFA o
(D), AR, Wﬁ@?‘( v YA gl
€ siRawa " v

[ P.T.O.
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10 Given below are two statements:

.. he chairmanship of
Statement (I): In April 1919, the Udaipur state govenment formed a Commnssu.nn‘ under t CThc Comiszion
Mandalgarh Hakim Bindulal Bhattacharya, in order to listen to the Complaints of Bijolia farmers. {
advocated various recommendations for the benefit of the farmers. ' . houldibe taade
Statement (I1): Officers of the Foreign Ministry of Indian govenment believed that a quick alliance s

: : in Rajputana.
with the Bijoliya Kisan Panchayat, otherwise the peasant movement may take a violent form in Rajpu
In light of the above statements, choose the most

appropriate answer from the options given below.
(A)  Statement (I) is incorrect but Statement (ID) is correct.
(B)  Both Statement (I) and Statement (11) are correct.
(C)  Both Statement (1) and Statement (I1) are incorrect.
(D)

Statement (1) is correct but Statement (11) is incorrect.
(E)  Question not attempted

-,qﬁ%ﬁQﬂqﬁﬁﬁ%mmmﬁ

(&) =+ () 7o & S T () R (B) a';na)aﬁ(w:r(n)aﬁuﬁ%l
©) =1 @) AR FE (1) I & e

D) T TR I T ) TR
(E) sai@aws
11 Which of the following is not a type of Iron ore?
(A) Lignite (B) Siderite
(C) Limonite (D) Magnetite
(E)  Question not attempted
Frefafea 34 # de swes wr yenad
(A) faeme (B®) I (R
©) fodrme @) AR
(B) rgaf@y=
12 Which of the following is an example of joint sector industry? (Choose the MOSt appropriate option from below)
(A)  Bharat Heavy Electricals Limited (B)  Hindustan Aeronautics AN
(C)  Oil India Limited (D) Steel Authority of India Limiteq
(E)  Question not attempted
Frerfefiaa # & 1 a1 s e @1 o sarew 2 cﬁnﬁﬁw&mgmﬁmgi&)
(A) ¥Ta B safaraed fafize ®) ez Wi fafre
~HC)  Ha ifear fafyre (D) I A 3w Sy e
(E) wquafaygy
13 Which of the following is a mineral-based industry?
(A)  Food Processing Industry (B)  Textile Industry
(C)  Fish Oil Industry (D)  Petrochemicals lndustry
(E)  Question not attempted
frrefefaa & & 2 a1 afie smaf sem )
(A) W JHERT Ie) (B) awIam
e e Ieiny
© P
® \
4
a1l ®

[ P.T.O.
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s

o

®

g S
The average of 11 observations is 50. If the average of first six obscrvations is 40 and the average of last six
observations is 55, then the sixth observation is:

|| STt T 3Ea 50 {175 e W sracat # it 40 &, af sifer @8 st w1 s 558, @ v e
2

A 35 (B) 30

() 40 B 20

(E)  Question not attempted / 37w w1

The length, breadth and height of room arc 12 m, 9 m and 8 m respectively. The length of the longest bamboo pole

15
that can be placed in it, is:
(A) 15m (B) 19m
(©) 18m (D) 17m
(E)  Question not attempted
e FACT 12 T, 9 oy <et ofi 8 ft S R it Tl S e ATt A o g8 stfereran g Fma I |
) 157 ®) 19
© 187t ) 17dt=24?
(B) IrgaR@w

16  The inner circumference of a circular path around a circular lawn is 660 m. What is the radius (in meter) of the outer
circumference of the path, if the path is 14 m wide?
(A) 84m (B)  110m
(© 119m (D) 115m
(E)  Question not attempted
@Wm%aﬁ,aﬁta{ﬁwﬁmﬂﬁv&& 660 X 21 afe g 14 *fiex <veT 8 o gahT amer fefyr i e,
(e &) Far grfe
(A) 84t (B) lo0HR

_© 119X (D) 115k

(E) rgaiawd

17 A shopkeeper sold an article for ¥ 400 at a loss of 20%. At what price he should sell the article to make a profit
of 10%?
T AR T fort g Y 20% @ W< 400 3 11 10% 1 T T o Ry, I8 3@ awq R FE W
EEEIR T
(A) 530 ~B) T 550
(C) ¥500 (D) %520
(E)  Question not attempted / ﬂﬂ'ﬂﬁﬁ q4q

18  Who of the following social reformers was associated with the abolition of Sati Pratha?
(A) Govind Ranade (B)  Vivekanand
(C) Dayanand Saraswati (D)  Raja Ram Mohan Roy
(E)  Question not attempted
W@amwﬁﬁﬁqmwmam@@m
A) fERTmR (B) ez
(©)  zarE e (D) TSI 3 Ty
(E) ergafa wu

Alll 8 [ P.T.O.



19 “The Indian War of Independence”, book was written by whom?

(A) Veer Savarkar (B) Mahatma Gan_dhi \a

(€©)  R.C.Majumdar { (D)  Baba Amte i.:’f

(E)  Question not attefipted S

2 e Tt ofis S e fasadks gu ferft md [

@) IR B) e Al €0

C) W, HopRR f"; (D) @ e *v}

® e rd

™ "]

20 ETH N F-91 A A 2 \D
(A)  wreET ot 2Rt gt e Rek (B) oz o vt afeat a1 o e e
(€) Wﬁmm%wwﬁ%m (D) ST %1 U et 71 e At ek

® emefawr tﬁ

@ o

21 g1 e -1 e i b

@-I ™ 4 'Hjﬁ-n o

a. mmﬂ .  EdWEAT

b. WA A AT . S T ST HTET ?_{;’

c. R YEHAT) ’ . e fememr ﬂ:

d. ma@ﬂtﬂm v, STt am ™

:ﬁ%ﬁqmﬁaﬁq’rﬁﬁwmmmwﬁm O

49 a-ILb-1V,c-Id-I (B) a-NLb-Mec-Iv,d-1_ &

(C) a-IV,b-TLc-5d-1II (D) a-1,b-IV,c-II,d-1I :——1

(E) suf@wa T :
R | - m

22 At the time of India’s Ifidgpendence, how many Riyasat were there in present day Ra_]asth'm (Rajputana Regi
(Choose the most appropnate option from below)

m@rmmﬁiﬁqﬁ T & TR (TSTYETT &%) H feherft frame off 2 (ﬁqﬁﬁmmﬁmﬁ)

A) 29 o B) 19 -
© 21 ol (D) 25 -
(E)  Question not attempted / e 94 i
23 ‘Indian National Army’ (}NA) was created by- (Choosc the most appropriate option from bélGiv)
(A) Netaji Subhash qgi;ndra Bose (B) Lala Lajpat Rai (")
(C) Bhagat Singh i (D) Bal Gangadhar Tilak LS
™
(E) Question not attémpted 0
weefirga et St (SfE) A, 1) e et for g for T e (Y 8wl 3 feere
HA) A AT %r; (B) TRATESA T -
(©) s fde :_ 1 (D) STt VTR foreren v
(E) At 14

' P.1
Al ® [



Match List-I with List-II.

24
List-I List-II
a.  Chipko Movement 4 Afro Asian Conference
b. Bandung Conference 1. A proposal made by big industrialists in 1944
for setting up a planned economy
c. Dr. P.C. Mahalanobis II. An environment movement to prevent cutting
down of trees
d.  Bombay Plan IV.  Economist under whose leadership the Second
Five Year Plan was drafted
a1 & = -1 6 firem fifsmg
Heft-1 w11
a. Taue! R L wHl- A A
b. SgTEREH L e Pt sreleraee s i & g 1944
§ w2 Seirraferd ERT foram AT O e
c. ot meeERE L et e e & T we wataer vidie
d. dRwE v, et R Ige 3 gudt daadia FisE
8 wreiteT I fora T o
Choose the most appropriate answer from the options given below:
£ R e et # & watfers I9g® STl
(A) a-ILb-TLc-IV,d-1 "~ ®) a-Lb-NULc-IV,d-II
(© a-1I,b-Lc-IV,d-1II D) a-NLb-I,c-IV,d-1II

(E)  Question not attempted / STFART T

25  Inwhich of the following year United Nations adopted the UN guidelines for consumer protection?
e 3 P 2 Frer -8 i s 35 g s g 3 e i 8 Sy
(A) 1985 B) 1979
© 1981 D) 1983
(E)  Question not attempted / TG 5

26  Which among the following organizations control the business of Insurance in India?
(A) SEBI (B) RBI
(C) LIC : (D) IRDAI

(E)  Question not attempted

ﬁmfaﬁaaﬁﬁﬂ?@ﬁ@immﬁﬁmszﬁﬁaﬁﬁﬁﬁam%?

A) & - (B) RS 3.

(C) ud. . 4. _ (D) IE IR . w o,

(E) rgafauy ' -
27  Who s the head of the Indian Audit and Accounts Department?

(A)  Attorney General of India . (B)  Finance Minister

(C)  Comptroller and Auditor General of India (D)  Prime Minister

(E)  Question not attempted

SRR S whte i e favp & @ FH €7

(A)  ¥IRE F TEAETE (17T S ®B) fawmuh
(C) WA & e W& werdraies (D)  wumHH
(E) Jrafiawsr

Al ® S [T



28

29

31

32

33

Which of the following is not a Consmutuuml post?

(" (B)  Governor )
(A)  Speaker . §
(C)  The Chief Justice R (D) RBI Governor ';;
(E)  Question not attempted ™ [
ﬁn%f@aﬁﬁa\qmqsru}mfim‘m#ﬁ%? 00
(A) <R areer (et - (B) TSI -
(©) ey ™ (D) s 3 et —
()  3rgafe war ™ -
As per the Constitution oflndl'\gthc name of a state in the Union of India can be altered b,y -
(A)  Parliament ™M (B) Cabinet Committee $4

(©)  Governor - (D)  President

(E)  Question not attempted

(A)

o (B) tfnizer afufa uj
© mw — (D) T e
(E) Irgaiawa !
v —
Identify the most appropriate English translation of the given sentence:
& IS TS 7A@ 3 R aret e e
(A)  Fresh air can be had onlyButside. ~B)  He came out to eat a little frésh air.
(C©)  He came outside for a breath of fresh air. (D)  He gulped some fresh air ?{Et?side.
(E)  Question not attempted L™ :\‘
.o L~
Choose the most appropriate Hindi word for - “Endorsement”. oo
(A)  SRFE yo (B) I HT =
(C) 9B HAT ~ D) YEHEHEAT P‘
(E)  Question not attempted =y
Which of the following best dek\é'ralbes the function of control unit? O
(A)  Perform the arithmetic op_e)ratlons m
(B)  Control the operations of,;pemory, processor and input/output devices, =5
(C)  Perform the logical operations. s
(D) Convert the external data-fp form understood by computer. (o %)
(E)  Question not attempted ) o
P 1 1, 3ier g Sy et s ok e 8 e
(A) i feres 1 Ao ‘,,:
(B) Y, ST SR 2/ TB2e S9Rwolt 2 aheerrer o P
(C) T vfcare & ﬁwwq O
(D) ammanﬁa)maﬁwm@mﬁqﬁaﬁam o
(B) eraf@ug P <

Khadi Kamgar Arthik Prolsahzr;i i{o_)ana has been implemented in the Rajasth
(A) 16 July, 2024 < (B) 13 July, 2022

(©) .14 July, 2022 v (D) 15 July, 2023
(E)  Question not altcmpudﬂ

uamu—aﬁammmmfdarmqﬁmwﬁmﬁamﬁ*@

(A) 16T, 2024 (B) 135, 2022
(©) 149, 2022 (D) 15, 2023
(E) ﬂiﬂﬁﬁ a4 R

Al ® 8

]
!.‘,r

m%vﬁw%m mu@%wwwmﬁmﬁﬁaua&wmﬂﬁaﬁﬁmwm’%

an state frorg&.;

C\J
™
™

[ P.T.0



34  Match List-I with List-II :

List-I List-11
Scheme Launched
a. Shudh ke liye youdh L 26 October, 2020
b. N]I‘Ogl Rajasthan Abhiyan 1. 18 December, 2019
c. Inc{lra‘ Rasoi Yojana [II. 20 August, 2020
d. Indlra Gandhi urban credit Iv. 24 Februaf)'- 2021
card yo;ana
mﬂla;ma;n;grt%rﬁamaﬁq
i e _@,,_, 7_¢
!ﬁm‘r . %cnam;; < (of]
a.  YE&RTIE L 26T, 2020 q;-z—;r'
b, T TSt st 1. l8ﬁ1ﬁﬂ 2019 BSTC’ 5(;
c. R A mo 2092020 YRE 5_4—,,—\439 :5—’“
d. sﬁﬁﬁ%ﬁs@%ﬁzmm V. 24%GH, 2021 I
Choose the most approprtate answer from the options given below: o M’
ﬁmmﬁmﬁﬁmmwaﬁl ?f
(A) a-1V,b-Tl,c-10,d-1 ®) a-Lb-IeclLd-IV
© a-Mb-ic-1v,d-1 (@) a-IIb- I,Vfc Id-II
(E)  Question ot attempted / 3TTARA I ~ ,‘,_,_;
35 Indira Gandhi Nahar Project (IGNP) is better known as the life line of - (CHoose the most appropriate option from
below) (e
(A) Southern Rajasthan (B) Western RaQ];aJsthan
(C) EastemR _]a\sthan : (D) Northern Rajasthan
(E) Question nbt attempted
ﬁmmwﬂﬁam(ws‘ ft, @, ) = Frefafead § | et s, Eﬁ?{—r’f@mam%? (= 3 & T8 I0E
ﬁm?}i) i &
(A) ZRroft ey (B) ‘TF%JTﬁm
(©) qa?nmﬁj (D) wﬁm
(E) aia A ¥l
36 Salt water crocod\ib is main fauna of which of the following biosphere reserves?
(A) Panna , -~ (B) Simlipal {gy
(C) Great Nlcqbar (D) Kutch £y
(E) Question I!IQN attempted S
@&Maﬂ%ﬁwﬁ«rﬁaﬁﬁﬁﬁmaﬁmﬁaﬁaﬂmsﬁa@ P
() = B) R
© iraﬁmanw _ (D) F=3 ey
(B) Tqaf Ty =
37  Which among théfollowing is the longest river of Rajasthan? -
(A) Khari (T) (B) Chambal ‘&
(C) Luni <t (D)  Sabarmatj ¢¥)
(E)  Question not attempted AW
Arerfifaa & & TRy I T Tt 7 i e £
a @@ O ®B) sSm W
© it =4 (D)  wmRmeht O
(E) Wﬂ?f g¥-{ |
All]l & 4 ’ [ P.T.O.




jate option from below)
38  The Thar desert comprises the desert triangle of three cities - (Ch(.)ose the “;OZLaizr_Og::erp
(A)  Jaisalmer - Jodhpur - Bikaner (B) Ja.lsalmer - '0 p 43
: b pal; (D)  Bikaner - Jaisalmer - Barmer
(C) Bikaner - Jaisalmer - Pali
uestion not attempted .
e e et ey Bor e, - (e g e )
(A) ST - S - ST (B) ST S - A
(C) TR - e - el (D) T - T - ATFH
(E) gaa s
39 Whatis the food pattern ratio of GOZ and GOR in National Food Security Mission (NFSM) on wheat and pulse
launched in Rajasthan in the year 2007-2008? ) - : 44
Tere 3 2007-2008 & s i A i arelt 26 e e et e (. T, TE. T.) 3 0. GOZ W Gop
H T % Y 1 ST
(A) 80:20 . (B) 60:40
(©). 50:50 (D) 70:30
(E)  Question not attempted / SREIRERE
40  Which of the following sector plays most important role in the econbmy of Rajasthan state?
(A)  Education Sector (B) Industry Sector
(C)  Health Sector (D)  Agriculture Sector 45
(E)  Question not attempted )
TSTET T2 3 301 3 & 30 1 &, areafiren v & anfolen s spr e s 20
A) fweres (B) SEwraw -
(C) wrmay - (D) Fuam
(B) rgai@ws
41 Which of the following are cash crops of Rajasthan state? (Choose the most appropriate option from below)
(A) Soyabean and Cocoa (B)  Cotton and Tobacco
(C) Tea and Sugarcane (D) Coffee and Cereals : 46
(E)  Question not attempted
Frafafea # & == = voeem asa T (3FET) B &7 (ﬁmﬁémmﬁwaﬁ)
(A) TR AR T (B) I AN TR
(C) =TT (D) IR I
(E) rgafawx
42 National Rural Livelihood Mission (NRLM) is implemented to eradicate poverty for —
Rajasthan state during the financial year 2022-2023.
(A)  slum poor ' (B)  rural poor
(C)  urban poor (D) tribal poor 47
(E)  Question not attempted
ﬁﬁua&zozz-zs%ﬁmﬁﬁmmmﬁmmaﬁﬁﬁmmm.m_m‘m)wm &
Tl S97e o oo fapr a2 —
(A) it e g (B) o fad
(C) =t fadq (D) S Py
(B) gafe sy
Al ® - 10

Whic
(A)
©
(E)

(A)
©
(E)

‘Do
(A)
©)
(E)
(A)
©
(E)

Natt
(A)
©
(E)
e

~

(A)
©
(E)

Col
(A)
©
(E)

(&)
©
(E)

Fir
(A
(C
(E
Ty
(A
&L
(E

[P.T.O. A11]
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44

45

46

47

All]

Which one of the following is the oldest oil refinery in India?

(A) Haldia reﬁnery (B) Mathura refinery, A
© Koyall ref'mery (D) Digboi refinery ¢, \
(E) Quesnon not attempted e
ﬁwﬁfﬁaﬁﬁﬁwﬁmﬁaﬁmaﬁqxﬂ%? [
) e foprerlt @) wou e
© @i oy R et
(E) Nﬂffﬁﬁ 54 o

‘Doddabetta is the highest peak in Tamil Nadu. This is a part of which of the followmg famous mountain range?

(A) Pir Panjal Mountains ~ (B) Nilgiri Mountams ?
(C)  Aravali Mountains (D) Satpura Mountams

(E) Questlol{ not attempted {\
SrerEr aﬁ%ﬁsaﬁwﬂm%ﬁé’r%l a1 T it & -t it T ST B g T R
(a) RO wEd @ HefdwEd O

© amagrﬁ (D) wageTuEIeAr

(E) aqgﬁﬁgj 4 v

Nathu La Pass is situated in which State / UT of India? W
(A) ArunacIial Pradesh (B) Meghalaya £
©) Jammu and Kashmir (D) Sikkim %f:.i*
(E) Ques’ﬂon not attempted . E:““
qum(a@ AT 3 TR T / s aRT A ferd 82 &
(A) STRUTERNRRT (B) WHTH ti
©) <t ST @) Tl ?4
() ai@ys - . '
Colour blind pérson is unable to discriminate between : L)
(A)  Blue and green colour - (B) Redand yellow cﬁgur
(C)  Blue afd red colour (D) Red and green coll\‘ur
(E) Question not attempted &
mﬁmmm@wﬁﬁﬁﬂvﬁ%mﬁaaﬁﬁmﬁm% ;_j
(A) e SiRET T (B) Tt 3R e T :;
© e siiam D) WERET@

?_511
(B) SAayd

(i, \O
First Indian spa;ecraf‘t which will carry 3 members and will orbit for 3 days in sp'\@e is:
(A) Bhaskar3 (B) NISAR ¢
(C) Gagaryaan (D) Spadex i:;
(E) Qucstﬁ)? not attempted :"‘i
srorT ST e i1 3 Hadt il e S ot e stafter & 3 Reft & Rrg o«
(A) a3 (B) T ww©am *-4
o T (D) Wy
(E) Aaia ¥4

11

®

[ P.T.O.



48  Which of the following is not the allotropes of carbon?

(A) Diamond (B)  Fullerene
(C) Ethanol (D)  Graphite
(E)  Question not attempted

Frafafea & & SF-a1 e # sy Q) TE 2

(A) sEHS (B) A
L) | (D) ETEE
(B) rgafaw

49 Which Indian Constitutional amendment raised the age of retirement of a High Court Judge from 60 to 62 years ?

(A) 18" Constitutional Amendment (B)  15% Constitutional Amendment

(C) 16" Constitutional Amendment (D) 17" Constitutional Amendment
(E)  Question not attempted
o sreltar wferer wreier ¥ goar e 3 =it 6 fanfrafi A o1 60 o & =gTR 62 7 F A
(A) 1831 dfoum dxiem (B) 159t dferam dame

(©) 163t Tfyum deiem (D) 174 dferam waia
(B Sgaf@ws

50 Match List-I with List-II.

List-I List-II
a. Goods and Service Tax L Article 82
b. Delimitation Commission - IL. Prime Minister
c. Survey of India - 1. Dept. of Science and Technology
d. Dept. of Atomic Energy IV.  Article 246 A
el % | g=h-11 1 fire sl
e wha
a. THGE@AA I TR 82
b. e s I SuwEE
c. YR T (4 AT sfeam) 1. {9 o Senfieht R
d. OIS famT IV. 38246 A

Choose the most appropriate answer from the options given below:
et fa e foreredt & & watfaes Iugw STl

(A) a-ILb-1V,c-1d-1I (B)
(C) a-IV,b-Lc-III,d-1I (D)
(E)  Question not attempted / JTTAId 9%

a-Lb-ILc-TI,d-1Vv
a-1V,b-Ill,c-1,d-1

51 The concept of ‘equality before law’ is an element of the concept of ‘Rule of Law® which was Propounded by -
(A) Ivor Jennings (B)  Paul Janet
(C) A.V.Dicey (D) Lord Acton
(E)  Question not attempted
T 5 TG AT ] ST T 35 76 2 ST 61 O Tl ) wmmmﬁmmw
(A) S (B) WA
AC) AT (D) ®STERA
() FgERawH -
an] ® -

[ P.T.O.



52 The_af:tual growth rate achieved in the 11" Five Year Plan was: (Choose the most appropriate option from below)
1 10 el it i Rt e i g0 e ot mo (e i & T S forred )
Aa) 10% B) 9%
©c) 8% D) 7%
(E)  Question not attempted / AT w1

53  GST Council is a Constitutional body established under the following article:
] T AT AR U wauieh frr e, Rrareht werrgar Fretferfad i A R 31g=a & st i f 22
(A) 122 _B) 279A
(©) 184(1) (D) 247
(E)  Question not attempted / TR T

54 Which of the following tax generates maximum amount of revenue for the Government of India?

(A)  Corporate Tax (B) Income Tax
(C) Sales Tax (D) Custom Duties
(E)  Question not attempted

mﬁ%ﬁmm,wm%%qwmwmmm%?

)y P (@Rdie) (B) I
© R (D) HHITeF
() Agaiays
55 Which of the following is outside the ambit of GST?
(A) Motor Spirit (B) Natural Gas
(C) Tobacco (D)  Alcoholic Liquor

(E)  Question not attempted

Frferfiae & & i aeg o da o A TR A AR

(A) are fafe (B)  Wehfaeh
«£C) T D) TUEHU
(E) Iaiaw

56 Overwhelmed by the beauty of which of the following forts did British Historian James Tod say that - if he was

offered a jagir in Rajasthan, he would choose that fort ?
(A) Nahargarh Fort (B)  Chittorgarh Fort
(C)  Taragarh Fort (D)  Bhainsogarh Fort

(E)  Question not attempted

frefefaa # @ fora fordt i gaar @ aafinga St frfear sfereTasrm v Sre 3 e fof, +af o= wrreer # frelt St AT

YrepaT 1 ST, a9 7% 39 fohct @Bt AT ?
(A) ATEUg e (B) fudieme e
(C) amng fee AD) g feper
(E) @gafia a4
57  Which language is spoken in the areas of Banswara, Dungarpur and the nearby hilly areas?
(A)  Shekhawati (B)  Hadoti
(C) Mewati (D) Vagri

(E)  Question not attempted

W,Wammmm%%nﬁ &yt 7w Tl ST el ST} &9

(A) IrEmErdt (B)  wEh
© Fawdf | (D) amrgh
(B) 3FRa A '

All] ® 13 [P.T.O.



58  In which year was Kalbelia dance form included in UNESCO'’s intangible heritage list?
T e e g e < o e e
(&) 2011 ¢y (B) 2008 )
©) 2009 (D) 2010 “ft
(E)  Question not attempted / T W [
59  Fillin the blank w1th the most appropriate option : ,nf
o wm ﬁmw{ [EETGH : o
9,28, 65,126, '
Ty gt T B) 204 :
o 19 () 206
(E) Questloin Igot attempted / ﬂgﬂﬁﬁﬁﬂ I
60  Inthe given question, choose the number letter group which is different from the others.
ﬁqmu&rﬁﬁmmmaﬁ@rm%m% ™
(A) OE3 oy «B) PH3 (#9)
© X2 & (D) IBs o
(BE)  Questioniot attempted / 3TaRa w0 i
61 When was Raj;sthan Information Commission constituted ? =
(A)  April 28, 2006 (B)  April 18,2005 .
(©)  April 1855006 (D)  April 28,2005 &
(B)  Questi ohﬂnot attempted )
ST Qe ST 1 T ot gy <
(A) 28 3t , 2006 (B) 183w, 2005 L
© 183t 12006 (D) 283, 2005 OO
(B) oruias o
- | o
62  Which of the following position is nor mentioned in the Constitution of India? 4
(A) . Loksabha Speaker (B)  Prime Minister
(C)  Chief Miinzister . (D)  Deputy Chief M1m{te}r
(B)  Question ot attempted
et 3 Q-3 2 s e e o e o Rt M
(A) mﬁm (B) W P
©) TEmEt | (D) 3T e £
(E) m?} §
63 Who among thgﬂollowing commonly serves as the Chancellor of State Universntnes?'
(A) Governgrd (B)  Prime Minister -
(C) Minister of Education (D) Chief Minister
(E)  Question{tiot attempted 0
Prferfaa # m: F T Rrafierendt oty e it )
(A) TeFgEe sl (B)  waEH ¢
©)  faremeeh (D) FEd i
(E) aﬂafcwa S\J
6 4  Geostationary satpllltes are positioned at km upward distance from earth, L sprface,
| fRer STt o T et v — felismdgdw i
(A) 45990 (B) 26000
(©) 36000 (D) 55630
(E)  Question not attempted / 3Twfa wer
All] ® 14

[ P.T.O.



65

66

67

68

69

70

)|

Concentrated nitric acid (aq) reacts with copper to give

(A)  Copper oxide and dinitrogen oxide (B)
(C)  Copper nitrate, nitrogen monoxide and water (D)
(E)  Question not attempted

|5 A1 TR (aq) Ao (@7ow) & 1hrfmar ek dar 2-

(A) I AT U STHIGENA HTRTEe (B)
(C)  HIH AL, AT HIreTge U wrhy (D)
(E) ATaRaws

Son river is a tributary of which of the following?

(A) Narmada (B)
(C) Yamuna (D)
(E)  Question not attempted

TR AR e e TR

(A) T (B)
© Fm (D)
(E) guiawy

The Southern most Himalayas are knownas .

(A) Aravali B)
(C) Himadri (D)

(E) Question not attempted

X (Ferd) Sfor fewrera 1 o 1 & ST ST § 2

(A) 3TEcT 4B
© R (D)
(B) rgafaws
ST, ¥o5 Tohe |1 3T ITTEXT 82
(A) EETEF (B)
(C) =afwar® (D)
() SIguiaud
T i 3fe & forn 3w e 99 81 €2
(a) £
©) GICH (D)
(B) oERasa
fopa qaTd I Tt 98 U 1 87

“4A) B (B)
© &
() ogaRasd

mmq@%mﬁmaﬁaﬁmmﬁﬁ-

(A) AT Afed Tl B)
© =t e D)
() wgaRasd

15

Al ®

Copper nitrate and hydrogen gas
Copper nitrate, nitrogen dioxide and water

quszzﬁ E-li;mq b

Ganga
Mahanadi

' Shiwalik up < ‘% B ST

Himachal (i_,* 5 T{Q’F (_\‘Q%EF;%

e

afea e
"fﬁm

[P.T.O.



-4
e

" utet \ t n()t b 3?
How many numbers trom 11 to 70 are there which are exactly divisible by 7 bu ¥
(\)  Six

(B)  Nine
(© l\\{\‘( (D)  Seven
(®  Quiestion not attempred \0
ua '(\b\‘ﬁv et s @ s 7 2 ko sy & KGRI LA
()W @ A e
© Wi (D) W[
) %g(ﬂﬁ“ w (090)

R .-\mn\nc! te tollowing words according to dictionary arrangement: Q
FroiforRRe vt o vt (Rl s 2 St safterd )
a Except b. E._chctwi
S Excess d Exit
Choosg

&h‘c ™MOost appropriate answer from the o

P o ptions given belowd ()
= R et ‘imaffﬁmaqgmm RRl
I )
9 S d, b B) b, drc
© %\&}. d.¢c D) ¢, dfayb
(B)

Question not attempted / SRRIRGME)

Q0
ol .
74 Choose'the venn di

oy
agram which best illustrates the three

‘ given classes:
ST S T S R o e v e 3

Flowers, Red, Fruits. . 4
NESIS AT
R o
= (0
0 Q
© (D) < '.
: o
(E)  Question not attempted / R wa
75 Which &Fﬁxc following two states have a joint plan under Mahi Pro'eg ? )
A) lg}mthan - Haryana (B) Raja‘s,tl}an - Madhya Pradesh
Eead . .
(C)  Rdjasthan - Punjab (D) Rﬂjasi.‘l;an - Gujarat
(E) C u‘estion not attempted B
m@ﬁamaw&mm@mm@ .0
(A) TR - gfamon (B) TSN - 9e4 W1
©) TTNHE -9 (D) USTHAT - SRI
®) Iqefawn -
76 The chidftteristics of computer in which, computer can perform &i)fferent types of tasks With the same ease is
known &%) &'p
(A) Diligence (B) SPGJHJ .
(©)  Versatility (D) Rellflzll"y
(E)  QUestion not attempted o0
TR R TE FR-H Al g, &vﬁw%ﬁ?m%mmmu A Pt ey 29
LN B)
(A)  =dEar ( =
© g @ *w 4
(E) i@y
Alll ® 36
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77

78

79

80

81

Al1)

Select the related word from the given options :
Animals : Zoology :: Blood : ?

(A)  Entomology (B)
(©)  Pathologyry (D)
(E)  Questionmot attempted

o T et 7 R st wroe w1 = iR

ST : SIGfaRHGI - 2

(A) TR (B)
(©) et v (D)
(B) gaiawr!

628, 429, 183, 249, 416

Hematology \

Anatofhy

L

£

e
“ﬂ L3

From the above Sequence of given numbers, what is the sum of the unit dxglt of third number from left and tens digit

of the fourth number from the right?

S TR TS ¥ aﬁﬁﬁmﬁm%wﬁmaaﬁﬁaﬂmﬁm%mwmm%ﬂ

@ 6 9 _®)
© 5 © ‘ (D)

(E) Question?h‘(it attempted / 3TNT ¥

3 P
3

ST -

£

ol

Sushil is the son-in-law of Bhumi’s maternal grandmother Sangita. Ravi is.the only son-m-law of Bhumi’s mother.

How Ravi is related to Sangita?

(A) Brother-lfl law (B) Grandson L
(C) Uncle ¢ ‘ * (D) Husband 0‘; granddaughter
S
(E)  Question'not attempted .
gsﬁauﬁ(ﬁm% wm%wﬁwﬁﬁmaﬂ@mm%ltﬁaqwﬁmﬁwm%?
A) W':FT’GT %’ (B) W= o
© Dy Pl FlT o
(E) eagaﬁ?r srar - g
‘Who among the &fqlowmg established moblle reading rooms and hbranes at various places in Rajasthan?
(A) Komal K@am _ (B)  Pt. Jhabar Mal Sharma
(C) Acharya Culsi (D) Swami Keshwanand

(E) Questlondlo;t attempted

Hv’p

ﬁq‘%&@aﬁﬁﬁ?@mﬁ%ﬁﬁ?wﬁmﬁaﬁawm@mﬁwaﬁ?

(A) ﬁm—«raﬁgrg (B) uled SR O Yt
(C) e el (D) i FyEEE:
(E) HaRawd gnd

\0 ot
Which of the folldwing leaders led the Bijolia movement?
(A) Surendra'Singh (B) Vijay Smgh Pathlk
(C) Chuna RAni Punia (D) Kanwar Vl_]ay Pal
(E) Questionrn{gt attempted e
Pt i & et frsitfera stidrer a1 e fomam? ~
@ gwhe ®) fr f%rswf?m
© ST (D) wﬁmwa,
(E) SAJaRayH i

®' 17
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82 Barkana water falls is situated in which of the following state of India?
(A) Odisha (B) Karnataka

(©) Goa (D)  Tamil Nadu
(E)  Question not attempted .
PR Tt # @ virc 3 R v i s stersar feord 29
(A) nfemm (B) e
© T (D)  dftrerTg
(E) rgufawy :

83 Which of the following mineral is non

-metallic and inorganic?
(A)  Graphite

(B) Natural Gas

(©) Coal (D)"  Petroleum

(E)  Question not attempted i

Frfafes § 3 9w afis s Td SThTel e 82

GV 2 o (B)  spferh

(©) wren (D) Uferw

(E) sgaiaws 8
Read the Passage and answer the questions that follow: (Q. 84 to 87)
Show

» New research and new health warnings.
contradictory and further confuse lay people.

Part of the problem is that many studies are financed b

y the food industry,
much of the so

-called nutritional wisdom that has been propounded over th
out of the commercial interests of those passing on the advice.

The most famous example of this sort of thin
breakfast is the most important meal of the day. Skip breakfast
for your health.

You can trace the roots of the advice to (surprise, surprise!
Kellogg family (owners of the eponymous cereal company)

It has always been a peculiarly Anglo-Saxon idea. People do eat breakfast all over the world but they do not necessarily
attach such great importance to it. Nor do countries without a breakfast traditi

which has a vested interest in the outcomes. An¢ 89
e decades does not emerge out of pure science bu

) the American cereal industry and to such food faddists as th

an most English-speaking countries.
ary cereals and stuff like pancakes with suga
nition that the breakﬁlst-is-essential myth ha

demic and to tooth decay. Manufacturers o

syrup (often misleadingly packaged as maple syrup). There is finally a recog
actually contributed to a decline in American public health, the obesity epi
sugary cereals are quickly putting out new ‘low-

sugar’ variations.
Some doctors still insist that the fi

rst meal of the day may be the most important. But the scientif;

¢ evidence supports the
view that if you avoid breakfast nothing terrible wil| happen to you.
84  Complete the sentence by choosing the correct option: 91
In reality the benefits from advocating the need for taking breakfast,
&%) food Industry (B)  general public (
(C)  French people (D) children G
(E)  Question not attempted a
All]l @ 18



85

86

87

88

89

90

91

TN L S A

According to the conclusion of the passage, breakfast -
(A) Contributes to an individual’s health. (B) Is essential and not to be skipped.
—«C) Skipping canng}_,hann you. (D) s the most significant meal of the day.
(E)  Question not attemptcd ‘.' Y i
In America, obesity and tooth decay have assumed the proportion of an cpldcmtc bccausc of the -
(A)  Consumption “f ‘savoury food (B)  Vested interest of the general public
L)  Consumption «‘Lfﬁ“b"ry cereals, (D)  Greek idea of breakfast.
(E)  Question not attémpted v
- -
Bogus means .
(A)  Confident (g AB) False L1
© B M @) Tre ()
(E)  Question not attempted <f
P £
Identify the most appropriate idiom which can replace the underlined words: 49
Rohit has the reputation of complicating and confusing things when any issue is‘raised in the meeting.
(A)  got our wires crossed (B) asclearasmud ¥ '
<€) muddying the SWwaters (D) incomplete shambles
(E)  Question not attempted
W 2
Which of the followifgifacility is mainly provided by E-mitraplus initiative of Kﬁﬁsthan'?
(A) Video conferencing <
(B) To apply for biith certificate, domicile etc. i:“
(C) Payment facil{ty}for individual firms : ; tﬁ
(D) GIS based Detision Support System Cji
Question not atfempted LI
ﬁm%@auﬁﬁqm“aﬁmq@a mﬁﬁ%ﬁ'ﬁmwmmaﬁWﬁ“’
(a) ifearFEsRm (B) ST WHIOT =1, Aftram & fog e u=
(©) fafire sfrgmt ST i gl & (D)  ft. o7, wm, smuifta ok s womeft
(E) IEtE@yd (¥} » M
g g
Which of the followibg-input device is used to input temperatures and moistare _tc.‘?
(A) Sensors 2¢) (B)  Webcam @
(C)  Scanners (o (D) Joystics a -
tion not dtfémpted !
%c;ﬁﬁm%WWWWaﬁtmaﬁmm@w%ﬁﬁmm%?
(B) aAw¥w .
1 T 0 R
© @ o ®) ‘ e
(E) aqgaﬁaw e el
~ . >
Identify the word thawn best substitute the given expression ?;)

One who is too strong‘ty be defeated.

(A) Invincible ;,' (B) Invulnerable  yf
(C) Indefatigable ,.{ (D)  Insolvent i
(E)  Question not attempted

19

All] ®
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92

93

94

95

96

97

98

All]

; - ive below:
Identify the most appropriate antonym of the given word from t

APATHY N

(A)  Fervor (B)  Stoicism
(©  Stupor (D)  Aloofness
(E)  Question not attempted ;

Choose the most appropriate option from below to complete the sentence:
A formal letter concludes with a -

(A)  Heading
(C)  Salutation
(E)  Question not attempted

(B)  Subject
(D)  Signature

ﬁwﬁﬁﬁmﬁméﬁmﬁa%ﬂ%mmﬁmm%mm%mﬁ{tmzﬁmiﬁiﬁa’fzrﬂm%?

(A) T REm, 1976 (B) T sifufam, 1963
(©) T iy, 1967 (D) T fw, 1973

(B) rgaf@wsy

e T, e 3 & R Heft 3 R siar 2o

(A) THTEY (B) WY
(€) w"EHTE (D) AW
(E) Igaf@wx

Which of the following language is not included in the Eighth Schedule of the Constitution?
(A) Santhali [ (B) Nepali

(C) Sindhi (D) English
(E)  Question not attempted

ﬁnﬁrﬁgaﬁ@aﬁqmwéﬁuﬂﬁmwfiw@aﬁ%?

(A) Eeoredt (B) Arelt

(C)  fa=h (D) siEsh

(E)  37gmfayq

Who was awarded Major Dhyan Chand Khel Ratna Award 2022 for Table Tennis?
(A)  Soumyajit Ghosh (B) Kamlesh Mchta

(C) Manika Batra (D)  Sharath Kamal Achanta

(E)  Question not attempted
%qﬁaa@aﬁéaaéﬁn%gﬁmwnﬁa@amm 2022 e fFar man
(A) Hisid 9y (B) &N NEar
(C) wfFEr e (D) IR A Hsiar

(E) erqaf@uy

Which one of the following is not a Fundamental Right under the Constitution of Ingjy?
(A) Right of Freedom (B)  Right to Education

(C)  Right to Property (D) Rightof Equality

(E)  Question not attempted

Treferfiaa # & 2 a1 vy wfter & g e s 78 8

(A) T 1 sl @) R siftvam
(C)  Hafer i sifirm (D) WA W

(E) Faf iy
® 3 20
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100

101

102

103

104

Al1)

Choose the most appropriate option to complete the given sentence.

They withheld his results. He the proof of his age.
J  doesn’t furnish (B)  has not furnished
(C)  had not furnished (D)  didn’t furnish

(E)  Question not attempted

Choose the most appropriate option to complete the given sentence:

There was knock on door. I opened it and found small dark man in blue overcoat and
woollen cap.

(A) a,a,the, the (B) a,the,a,a

(C) the,a, , the (D) an,the,an,a

(E)  Question not attempted

Which of the following three years were declared as Plan Holidays from five year plans in India?
(A) 1969 to 1972 (B) 1957 to 1960

(C) 1961 to 1964 (D) 1966 to 1969

(E)  Question not attempted

W & dgadTa SR § & Fe @ 9 & i aut s @ieT ST st foRar I or?

(A) 1969F 1972 (B) 19579 1960
(C) 1961 1964 . (D) 1966 & 1969
(E) IJaRawd

Dr. Savita Ben Ambedkar inter-caste marriage help scheme was launched in the year-

<7, ST 3 oTrea IS fiaTe T AT (Eferiad 3  fo o yroe i oft?
(A) 2012 : (B) 2006

(C) 2007 (D) 2010

(E)  Question not attempted / aﬂﬁﬁﬁ' o

Rajasthan handicraft policy has come into force on

(A) 23 November, 2023 (B) 17 September, 2022

(C) 18 September, 2022 _ (D) 20 December, 2023
(E)  Question not attempted
TSTEdT gy Cakc gl

(B) 17 f&dsw, 2022

(A) 23 7&K, 2023 .
(D) . 20 feEsw, 2023

(C) 18 fadsr, 2022
(E) fgaf@ay=

on: (Choose the most appropriate option from below)
(B) 1# January, 2014
(D) 15" August, 2015

NITI AAYOG was established
(A) 1% January, 2015

(C) 15" August, 2014

(E)  Question not attempted

<A et B e o 1 it (P - ey 3 e )
(B) 1M, 2014

(A) 1sFEd, 2015
(©) 153714, 2014 (D) 153771, 2015
(E) rgaRa
® A, [ P.T.O.




105  Choose the correct combination from below:

(A)  RRB - Agricultural Finance (B)  IDBI - Shoft/Term Loans

(C) RBI- L‘“fgt}crm Loans (D) SBI - Morictary Policy

(E)  Question f{)g attempted J‘“

et bt et ) e »

(A) AT 3 AL Ff (B) . &, afcopd, - sreRfer® K7
(©) o o, i) drefamiRra wor (D) . aff, arrd witfr Aif

(E) Hﬁﬁﬁwﬁ"' i

n 19917
106 How many mdmmcs were reserved only for public sector before the dcr%uhtlon of the Industrial Sector i

(Choose the most.&ppropriate option from below)

1991 3%, Shehfren B ¥ b a g, mmm%mmﬁmmma»(mnammm?)

@ 17 . (B) 20
© 14 g; (D) 24 vl"
(E)  Question not attempted / FARE 521 ::;
v ’ v=d
107 ST 8 S-91 Yoq 30 1 wrfams =t 29
(A) Sfiaes . (B) Wy O
© T W @) TG oy
(E)  I7ui@ ) w
\\i‘ ’ E\\'
108 ﬁﬁwﬁqw% sz;)
A1 ; ﬁmﬁ@{wmﬁmmm%ﬁm%mmél O
T - 11 = forw (g 3 mera sl & aref o o oft @ o :’
Wﬁﬁﬂﬁ%ﬂ@ﬁﬁﬁﬂ%&aﬁﬁﬁﬁwﬁaﬁmwaj{ ;
(A) A T 2, fog e 11 9 2 (B) Wlaﬁt%ﬁﬂi‘?%l
(©) FolUEAA T sl (D) 'Wlﬂﬁé%ﬁﬁmllm%l
(E) ~ =gar@wan) -
efl =
109 forforfiaa i & bt eafat s § b o)
a. @g b. W )
A ™
c. ﬁ?‘q ¢ -
€. qH
ﬂaﬁvmﬁaﬂtﬁﬁﬁmﬁbmmmwm?ﬁﬁq W
(A)  Faab,dHdite (B) A b, c Y d
©) Wa,c\sﬁ?e (D) aﬁﬂu.d?jc
o mw\" 00
O
110 ‘Deputation’ m%f%é}ﬁmpfq;mg !l
&) frafa ) wfaffe
© frfw r~l () wfayfa
(E) wrgdf@uy
All] ® 22 [ P.T..
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113

114

All]

frafofea 3 & snfvdier wT e s e-
A) oSl (B)  3whfae
(©) e (D) awfife

(E) SfguRausw

Cooperative movement in Rajasthan region was started in the year _______. (Choose the most appropriate option

from below)

TSTEH 8 H HehR A Y AT and i g8 | (P 7 & Tl 39 e )
(A) 1914 (B) 1904
(©) 1910 (D) 1912

(E)  Question not attempted

Given below are two statements:

Statement (I): Sodium metal is stored in kerosene oil because it is highly reactive.
Statement (II): Sodium metal reacts vigorously with nitrogen.

In light of the above statements, choose the most appropriate answer from the options given below.
(A) Statement (I) is incorrect but Statement (II) is correct.

(B) Both Statement (I) and Statement (II) are correct.

(C) Both Statement (I) and Statement (II) are incorrect.

(D) Statement (I) is correct but Statement (II) is incorrect.

(E) Question not attempted

e & e feg T

HeT (I): feaw arq i g & o7 3 warfe e smar @ =it 78 st sfafeares gar )
HT (I1): VT €1 A2 & Yarera & SffsHan T 2l _

IR AT 3 ST §, A9 R g fshedi § & @a@ I9gw S I

(A) o (I) TTed & AR U (11) F 2 (B)  FA () 3R F (1) A1 F &
(C) = (I) AT (1) I &t 777 & (D)  FF (1) 9 & AT FAT (11) Teia R
(E) ui@usd

Cyber security is also called, “Security of Information Technology™. It is used mainly to:
(A) Used to send letters by post '
(B)  Connect different computers together
(C)  Used to share the resources on internet
(D)  Stop unauthorized access into various computers
(E)  Question not attempted
A guan @, cgEw deafidy @ ger, M FE s {1 e swm el st & R R
EIGIES
(A) AT 1 ST 30 W9 & g
®) i deed 7 v-gat & g
(€) TR T AT F sy i wied #f waw & e
(D) R dheaett & sraferg g A Qe ¥ R
(E) AuRayus
® % [ P.T.0.




115 In which ye

ar the Indian Space Rescarch Organisation (ISRO) was set up?

ﬁw%%aﬁ%ﬁmaﬁ?mﬁnﬁaﬁaﬁﬁmm (ISRO)ﬁWﬁﬂé%ﬁzm
(A) 1952 QJ:'? (B) 1962 AR

: ()
et i
(E)  Question no{:f\_llcnnﬂcd / iﬂfﬁﬂﬁ o4

64 }
116  Which of the f()ll(m\'s\:mg facility is not provided by the Rajasthan Sampark Portal?j

S
(A)  Automatic épc‘cch Recognition (ASR) (B) " Grievance Rcmcﬁf? :
©) GIS imcgrat%p and data analytics (D) vidco-confcrcngﬂjg
) 1=
(E)  Question not attempted

ﬁw%%aﬁ%aﬁq%ﬁgﬁmwmm%mmwﬁzﬁm%? Te)
AR ST iR fetfiew (ASR) (B) i et e

(©) S 3T, oo sk sriget e s (D) =ffear ihfam «yp
(B) 37 war

pasn

o0 &
117 Fill in the blank by'choosing the most appropriate option: ey
e | .

He was indignant ¥ being cheated by the smooth talk of the salesman. j

(A) at . ' (B) with o

© in D) of s

(E)  Question no%empted ‘ -

(3] g

g o

i
118  Change the direct sg:gech into indirect speech by selecting the most appropriat

e;option from below:
He said, “I do not wish to see any of you, go away.” &4
S et \}\,

O
G*ai.vay.

(A) Hetold thatthie did not wish to see us and ordered us to £0 away.

~AB)  He said thatthe had not wished to see any of them and ordered them to g
(C)  He told that'hé did not wish to see any of t};e;n and ordered them to go
(D)  He said that he does not wish to see any of us an
(E)  Question notéttempted .

aV'\E%'.
d ordered us to 80 away,

@
™ M
119  Change the sentencﬁnto passive voice by choosing the most appropriate optio?&i‘
They feed the sealst;lhe zoo twice a day. ;*n
: ' . ‘ a0

A7%)  Twice a day,ihe seals are being fed at the z0o. (B)  The zoo feeds th@ea]s twice a day,

(C)  They feed tQ%eals twice a day at the zoo, (D)  The seals are fed.twice a day at the zoo.
(E)  Question no}ﬁ}témpted =
; . 4 ; . te}
120 In Rajasthan puttmgg gold nail between the teeth is known as:- ™

(A)  Borla ™ (B) Daamna

< 3
(C)  Baari by (D)  Choonp N
(E)  Question nobp tempted 4]
CSTET 2Tl 2 S 3 20 o e e o et o s sy st 2 ¢y
(A)  @ren v (B) g =
(C) = - (D) ¥ v

(B) rgaf@us



121  In which Rajasthani folk dance, dhol, bankiya and thali arc used as the main instruments?
(A) Gair (B) Ghudla
(C) Chang (O (D)  Dandiya
(E)  Question not attemficd

TSTEIH ﬁm%ﬁmawﬁaﬁamﬁmaﬂrwﬂmmﬂmmm*m”mm{"

O

M

(a) ™ (B) & i 0
() = ‘,* (D) sifea e
® @ )

5

' |
122 Where is Nataniyon Ki Haveli situated?

(A) Lakshmangarh 0 (B)  Jhunjhunu Lo
(C) Churu ﬁ (D) Jaipur M
(E)  Question not attempj;)d s
qmﬁrﬁaﬁraéﬁm?qtﬁ?fi%? P
(A) TG o B) FIL 0
© T* o (D) IR -
(E) guia s i o |
- i
123 Name the person who went on a fast in 1952 demanding a separate State of Andhra and died during the fast.
(A) B.P. Sarabhai 1U6] (B)  Potti Sriramulu O
(C)  Sriram Gandhi  {¥} . (D) Ramlal Gaya ,(.::A:
<3

(E)  Question not attempted
I ATE 1A FdIEEST 1952 F gerch 77 TS sht TATIHT o foIg, YA 9 33 79 9, eﬂt%?m%aﬁm‘a’rsqﬁqw?&
m =

Tt o
(A) 1. dt. g = (B) gt sy _C_:’
(©) e : (D) THETET =
(E) &AqAia 4 ' '
Y &) o
124 Given below are two statemeints: ™M

Statement (I): In the context of the revolt of 1857, the term revolt refers primarily ¥3'the uprising of the civilian
population. ™ o ™
Statement (II): Mutiny was a collective disobedience of rules and regulations withirf-the armed forces.

In light of the above staterfients, choose the most appropriate answer from the OPtiOHS(;}’e“ below.
b

(A) Statement (I) is incotrect but Statement (II) is correct,

(B)  Both Statement (I) Hiitl Statement (11) are correct. v
(C)  Both Statement (I) and Statement (11) are incorrect. -
(D) Statement (I) is cor};gt but Statement (1) is incorrect. ‘:ﬂ
(E)  Question not altemp; d :v ?
fadFmAfoms [j

m(n:1857%ﬁrfmx%ﬁm%mﬁﬁmmanmm:mﬁmwmmm A
wor (11): Foie (agfert) ware aretf 2 sftee Frasil it fafiesd) € avfees s ey ¢

SR el 2 ST H, A fw wu feraredl i O TR ITGH IO o

(A) T (1) T & e (1) w21 (B) e (1) it s (1) 2xitere §)
(©)  Fu (1) 3 F (11) 3 e B (D) 1 (1) et R b sy (1) ey 2
(E) - STgaf s

All] 25
® . [ P.T.O.



: iven by henna?
125  Which of the following is responsible for the dark brown or reddish colour gl

(A)  Hydroquinine (B)  Luciferin
(C) Melanin ([)) Lawsonc

(E)  Question not attempted

mmmwmmmm%ﬁ%ﬁﬁw{%@aﬁamfaﬁ@m%’z

(A) TEgfRETE (B) e
(€ denfw (D) A
(B) ¥{uia ws

126  Zinc reacts with dilute nitric acid (aq) to give
mm%%ﬁmﬁw A (aq)%nﬁﬁmém%
(A) Zn(NO,),+NO+H,0 (B)  Zn(NO;),+ H,0+N,0
(€)  Zn(NO,), +H, (D)  Zn(NO,), + H,0 +NO,
(E)  Question not attempted / AR 94

127  Which of the following is not a part of chromosome?
(A) Chromatid (B) Satellite
(C)  F, particle (D) Centromere
(E)  Question not attempted

e o PR 8 e e o (ot T &

(A) wmies (B) ¥R
(C) TF, i (D) &R
(E) IFguf@ug

128 Which of the following is not a Kharif crop? -
(A) Rice (B) Maize
(C) Pearl-Millet (D) Gram
(E)  Question not attempted
Frefefia & & 2 v @ e T 7
(A) 94 (B) WaE&HT
(C) =~U (D) =
(E) Hyafauy

129 If ‘threat’ is coded as 289512, then *BRIDGESTONE' will be coded as:

I “threat” 1 %1€ # 289512 ek faran s &, 6 *BRIDGETONE' 178 gy,
~—tA) 29947512655 2.9 (B) 27947513855
(©) 29947612955 (D) 28947612855

(E)  Question not attempted / syt wa

All]l ® 26 [P.TO




')Eﬁfﬁ X*Y:L’M ‘2_{\" .

Amar and Akbar start walking in opposite direction. Amar walked 24 km and Akbar walked 7 km. Then Amar turned

130
left and walked 7 km and Akbar turned right and walked 24 km. How far is cach of them from the starting point?
(A) 31km N (B)y  27km 0O
(C) 25km ‘E’U (D) 26 km ™M
(E)  Question not attempted ("3 b &
3P 3R Wﬁ%‘rﬂﬁﬁmﬁm{[ﬁw | Tt 24 5, oy, =rerm s arpare 7 B, o, AT T aeerere sy Aty g it
7 . . e ol e A 74ﬁmﬁaarlah}m}xpﬁgnf}a:ﬂ*ﬁm?f 0o
(a) 31 fe ped @) 27 FF f:
ey 2sfh. ot (D) 26 fF. . :
(E)  rgala ws - o
131 A, B,C.D,E and F are sitting i irow facing north. E and F arc in the center, and A and I%pirc at the ends. C is sitting
on the immediate left of A. Whe's sitting on the immediate right of B? <f'
A, B, C, D, E 3 F U ufts § Intsht 371 7@ otk 43 € EslFaz i d s A aﬁta-rmrr%l C, A % 2% 9t w417
W AIT ]I B F e I T WHA AT 82 o0
A D 0 (B) E o
© A Q ®) F i
(E)  Question not attempted ﬁﬂjﬁﬁﬁ pee o |
132 Select the option that is related to the third letter cluster in the same way as the second lcitgr cluster is related to the
first letter cluster. o .
ﬁmﬁ%wﬁmwwﬁﬁr@ﬁm wmﬁmmwﬁlﬁ%mm&aﬁaﬁmaﬁgm T FHE H
&3St Y =t ™
\A\’SUNDS DNOSUW : : ALMIGHTY : ? o
“GILHMATY & (B) AIGHTYLM. o
(C) AIGHLMTY (& (D) AGHILMTY il
(E)  Question not attempted ﬁ@aﬁﬁﬁ 94 : i
i
133 There is a definite relationship between figures (i) and (ii). Establish a similar relationshipbetween figures (iii) and
(iv) by selecting a suitable ﬁguré)from the options. So select a figure from the options i} would replace question
mark (?) M it
ST (i) (i) 3 i U Ffera ey 2 forered 8 & I ATHT T 98 0 AH (ifi) 7 (iv) F ofrer 7o warg
wﬁammﬁaﬁﬁﬁﬁmwmﬁ@(v)uﬁ—mm@ o
Problem Figure / 9&T 3TTEEﬁ o
= v
O1@IOk? :
P\
\O
(i) (ii) (i) L& (iv) ™
M ot
A = B) %‘% ™~
= ™~ ol <> o0
oo (]
) ™
B § @ -
v
(E)  Question not attempted / :ﬂg’ﬂﬁ'ﬂ el
All]l ® 2 [ P.T.O.
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19 " : ’
ing its denominator by 8%, the fraction become,
134 On increasing the numerator of a fraction by 15% and decreasing its denominator by 8% §$- 1

16
the original fraction is:

15 . ;
. . 1 fir=t %1 7 — 2 S
% s ot % s 1504 g foem st e gk v A 8 wen e s i iy 16 T firy,
g -

(A) % (B) %
« Y ™ %

(E)  Question not attempted / Wﬂﬁﬂ'ﬂ i

135 Amit, Sumit and Vinay divide an amount of 2800, amongst themselves in the ratio of 5: 6 : 3 respectively, [y a
amount of X 200 is added to the share of each, what will be the new ratio of their shar\cs (zfthc.ar‘r-lount? )
S, fer o formar 2 2800 A wrrfra 5 - 6.+ 3 % w1 ¥ i o ) aft v o e i 2 20091z fry
arufr & 3 et whr STAT T By
(A) 4:5:2 B) 6:9:4

A€] 6:7:4 (D) 7:8:5
(E)  Question not attempted / 313;?!1:{?[ a9
136  Who was the Deputy Prime Minister and first Home Minister of Independent India?
(A)  Rafi Ahmad Kidwaj (B)  Mahatma Gandhi
(C©)  C.Raj Gopalachari (D)  Sardar Vallabhbhai Pate] i
(E)  Question not attempted .
Hﬁaum%%ém-wmaﬂtqgﬁsﬁﬁq%?
(A) vt sreng foread (B)  wTeHT iRy
©) . T Marema (D)  HEH Jeenmrs v
(E) sigmf@wy

137 After the partition of India in 1947, which of the following archaeological sites remained on the Indian side ?
(A) ~ Kalibangan (B)  Harappa
(C)  Mohenjodaro (D) Gunveriewala
(E)  Question not attempted
1947 % m%ﬁw%mﬁwﬁ—rﬁmﬁ@rﬂqmwﬁﬁwﬁm%m% B gy o
(A) =FreftEm (B) ®3wr '

(C) ez - (D)  TiaTE
(E) wrqaf@ay
138 Who is the family deity of Bikaner royal family?
(A)  AaiMata (B)  Kami Mata
(C)  Jeen Mata (D)  Sakraya Mata
(E)  Question not attempted
AT BT USTAATE Ay ey 39
(A)  3méHmEr (B)  =Toft wrar
(©)  Sforamn (D) TR HTAT
(B) oquafeaug

Alll ® 28
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141

142

All]

Poona Pact 1932, was associated with which of the following Leaders?
(A)  Mahatma Gandhi and Dr, Bhim Rao Ambedkar |
(B)  Mahatma Gandhi and Muhammad Ali Jinnah

(C) Dr. Bhim Rao Ambedkar and Muhammad Ali Jinnah

(D)  Mahatma Gandhi and Pt. Jawaharlal Nchru

(E)  Question not attempted

n wwEitar, 1932 Rl i & 6 Yl & wfua o

(A)  wETe i ud € e srEat

(B)  WRTCHT i 39 wewe areht R

(C) =i e apisaR ud yewg et R

(D)  WETCHT Tt U Ufed Saretere Jew

(E) Hgui@wx

Who established Depressed Classes Association?

(A) Muhammad Ali Jinnah (B) Mahatma Gandhi
(C) Dr. Bhim Rao Ambedkar * (D) Jawaharlal Nehru
(E)  Question not attempted |

3fera et wreA, forem wenfia famam?

(A) TEHTE 37l R A (B)  HeTeHT el

(C) Sifiug smieat (D) SETES Ae®

(E) gaiaus

SVAMITVA Scheme is associated with

(A)  Soil conservation in rural areas.

(B) Water conservation in urban areas.
(C) Demarcation of inhabited land in rural areas.
(D) Property survey scheme in rural areas.
(E)  Question not attempted

(A)  TITHoT SRt H FErET SR HCET

(B) Y&l T A S HE

(€) T SeTeht 3 STrES MfH T
(D) TrTefior TRt 3 TEafR EET ArST
(E) Fafayd

National Panchayati Raj Day is celebrated on
(A) 26 April

(C) 22 April

(E)  Question not attempted

g deradt st faw ) T ST 2
(A) 263 B) 2030«
(© 2230 (D) 2430«

(B) oigaiawa
® .

(B) 20 April
(D) 24 April

29

[ P.T.O.



143 Which of the following is not a Constitutional Body?
(A)  National Human Rights Commission \O
(B)  Union Public Scrvfc‘g’Cmnmission (f')
(©)  Finance Cmmnissi&f\j __'EI
(D)  Election COI]]II]iSSi;j" &p
(E)  Question not aucm})t\t}d ;{)
e g 87 -
(&) Tt wafiT sy ol
(B)  WeT Sl dar sy, .
(© fam omam .
D) FEIET g has
(E)  Stgafa war ™ bl
< e
144 The simple interest of a certain sum of rupees for 8 years at 7.5% annual rate is T 750?, AN hat is the simple inter,,
same sum for 8 years, if tl}e‘(gate of interest is increased by 2.5%? ‘:3
R 7.5% =if¥en samor ot a0 8 =1 i wem T R 7,500 ST S A 2 e Tt I T 2.5% T2
Lt saﬁﬁmwmwrﬁm i
(A) 12,000 ‘ (B) ¥ 20,000
(©) R 12,500 O AP) % 10,000 Lo
(E)  Question not attemptad / AT T M
=f =5
145 m@am%mmﬁ‘mm-mm&a}aﬁwﬁ%mmﬁwﬂwﬁmﬁg\
Aa) e o0 B) wEwE D
“«0  dER 2 O sEER i
(E) af@usy ﬁ ~
146 ﬁnﬁrﬁaaﬁ&‘ﬁaﬁwmﬁﬁmaﬁﬁrﬁ%z%- O
(A) foar+amew m (B) o +amy oM
(©) feEm+zw < D) fg+amy o
(E)  orgafe v ™ D
3] (§3]

147 Which of the following stitement is not correct about th

(A) This region owes il‘s’ticvelopmcnt to being rich
Valley.

¢ Chhota Nagpur Plateay lncfl;s\rial region?

in iron ore from Jharkhand-&ﬂsha and coal from Da™
™

(B)  This region is popularly known as “Ruhr of India™. ‘ L
(C)  This region extends_'%qver Jharkhand, Chhattisgarh and Andhra Pradesh, \D

(D)  Ranchi, Dhanbad, J aibasa, Sindri are some important industrial centres of tttg's region,

(E)  Question not attem ted l':*

ﬁmﬁﬁmmm@awwaﬁtﬁﬁmm%mﬁﬁmm%} o0

(A) W@imﬁmm}g}-@ﬁmﬁmsmaﬁwnﬁarﬂra?ﬁﬂﬁﬂﬁﬁmg‘]ﬁ"m§mm

(B) T & 1 & wyey, A @ foveama 8 v

(C) ¥ &7 wde, wefiging sh 119 W3 wreh B gt ) v

(D) T, Wi, v, e, ar 8 s g sfveifes o

(B) rgaf@um (
Alll ® 30 e




148  Which of the following statement is not correct about the Tertiary Coal?

A)
(B)
©
(%)
(E)

It is found in the rocks of the oligocenc period of the Tertiary Era.
It is also known as the brown Coal,
It is an inferior quality Coal.

It contributes to about 25% of the total coal production of the country. |
Question not dttcmptcd ;

foreferiad & @ W A1 e el wrret ¥ e i w78 2

(A)
(B
©
()]
(B)

TR T I % A et o sz & g smar 21
TR [T BT 6 9 Y ST v 2

Tg F T[T o e dar )

T 2 % Tl BRI I & 25% F7 37772 21 21
A 9

149 Karewa formation are useful for the cultivation of

(A) Coffee '

(B) Zafran/Saffron ' ,
(C) Cotton

(D) Jute

(E)  Question not attempfed

HET ST (BH) Feraeht Tt & fag suanit 22
(A) : : o -y
(B) W

C) =HuHE

(D) =

(B) wraRa s

150 Which of the following river is right bank tributary of the Ganga River System?

GY)
(B)
©)
(D)
(E)

Ghaghara
Ramganga
Son ’

Gomti

Question not attempted

Freafeafiaa & & 3 oft 71, iy oy qorrefy o1 afett wead 41 82

(A)
(B)
©
(D)
(E)

1
T

-

qaH

-

QLG
A g4
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